TSF

TRI0ERE LB EPFRABT AR
F49[E LB EPERAT-ITIREvI-KRE RE—FRy—FRERE

FER314E 18 58 (1)~ 78 (A)
BINETNASURRR—Y 52— BN D

* % x NILEEFE L F 1500 m (Fr1E) * * * 2019/1/6 12:20
#H & No. K % T B LRGN B  EF KAk B E
1 B 530 {EpE 48 + B-BEEL Q) 2.20.88 5 1 =7
7 563 WFEEFE + B TFTEEQ 2.21.14 6
2 53 kM BHE + B-=EIEE (1) 2.20.57 3
% 515 AFEE FhR—vs-HE (2) 2.20.84 4
& 505 FRME KA fB iF-EE (3) 2.17.32 1 1 =T
# 587 AIE # 1B = iR LRE () 2.18.56 2 1 =T
2 B 527 BHEBATE + B REF Q) 2.53.77 6
* 541 ARBE + B-HLRE (2 2.12.47 2 1 =7
2 567 EF EB + B-hilm (3) 2.12.22 1 1 =7
% 541 KR 1KE + B % AEHT (3) 2.12.78 3
& 501 RAN FE A R4 () 2.12.93 5
# 504 &P = | =-FEhR (3) 2.12.88 4
3 B 552 ERIZ + B-EELEO) 2.21.02 3
570 FH KRR + - &R (1) 2.21.22 4
2 550 HA E% + B-ERhR () 2.20.82 2 1 =T
& 500 D ER AR—YY-BEE= 2) 2.35.27 6
& 598 A BE HE-EasE=G) 2.32.06 5
# 518 JLEEZXE #l B-PIBREE Q) 2.20.68 1 1 =T
4 B 534 B <5H + M- TEKE Q) 2.15.23 3 1 =7
# 556 =ie EHE + - TIRATHR (2) 2.10.97 2 1 =7
2 564 PRI BEE + - K#ie (3) 2.10.90 1 1 =T
® 575 RHEZ + B-EAIEE Q) 2.24.70 4
& 512 EEKHEERE  Ar—UsNEKQ 2.34.80 5
5 B\ 53 B FIE + B-EEHE () 2.23.97 5 1 =T
# 557 ZH AFH + - TIRATHR (3) 2.16.33 1 1 =7
£ 566 dLUE BX + B chALA (3) 2.16.35 2 1 =T
#% 551 BF B + BB () DNS
& 519 FEMWE Il BB EE (2 2.21.97 3
# 580 ZEFE BEF | =420 () 2.22.49 4
Blivsb SE AL

Loz —: [ &K EX]

F—7484<3—: [ LWAXx H& ]

THRER: [FFR T=

]




TSF

TRI0ERE LB EPFRABT AR
F49[E LB EPERAT-ITIREvI-KRE RE—FRy—FRERE

FER314E 18 58 (1)~ 78 (A)
BINETNASURRR—Y 52— BHNIL D

* % x NILEEFE L F 1500 m (Fr1E) * * * 2019/1/6 12:20
#H & No. K % T B LRGN B  EF KAk B E
6 B 548 EE DR + B-ALAEE (1) 2.19.93 4
# 562 FFUE BRIA + - TFTEEQ 2.30.51 6
2 54 RAE + B EBIBLE 3) 2.22.89 5
® 577 IR 5 + 5= Q) 2.18.76 1 1 =7
& 521 HATEM 8l B&-1ZZAT R (2) 2.19.44 2
# 505 EEEE | E-REPR (2 2.19.73 3
7 B 540 ERIEE + B BEEE Q) 2.26.01 2 1 =T
7 528 EB A + B-2F© 2.32.28 5
2 511 FEHE HBPE  + B-AR Q) 2.35.58 6
% 531 JKF KR + B-SEHFE Q) 2.13.88 1 1 =7
# 51 #H® EBEE FR—Yy-ER (3) 2.28.01 3
& 597 IOk E B & HA%E= 0 2.31.41 4
8 B 553 #F BALE 4 B-EENEQ 2.24.82 2 1 =7
# 514 AF FEBK FhR—ys-HE (1) 2.28.57 4
2 523 /I\HKEE 8l B ERESH () 2.28.27 3 1 =7
% 583 MG [GE 1B = iR LRE (3) 2.23.91 1 1 =7
& 591 e #&E 1B =Rl EEE 3) 2.47.16 5
9 B 5 X¥FNHE + B-REF (1) 2.35.08 5
# 555 /INEFF BE 4 B-HiRETRR Q) 2.16.66 1 1 =7
2 533 FHE FE + B TEES (1) 2.35.02 4
#% 586 MH FEKIE B =-hi@REE 2.16.84 2 1 =7
& 592 MEHE &5 1B E-FEhR (3) 2.25.95 3
10
Blivsb SE AL

Loz)—: [ &K EX]

F—T8A4T— [ WA BE ]

THER:[FRE T%8 ]




